	RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL (Certifying Districts and Communities' Commitment							
1	of Matching Funds)							
2	RESOLUTION NO. <u>93-395</u>							
3	RESOLUTION NO. <u>95-395</u>							
4	WHEREAS, the following communities and districts have requested funding							
5	of the specified Projects:							
6	Chui Chu/Sif Oidak Community Facilities							
7	San Simon/Pisinemo Community Facilities							
9	Big Fields/Sells Community Facilities							
10	Santa Cruz/Nestors Community Facilities; and							
11	WHEREAS, the above-listed communities/districts have appropriated							
12								
13	matching funds toward the construction of their specified							
14	projects; and							
15 16	WHEREAS, the above listed communities/districts have the funds available							
17	to appropriate.							
18	NOW, THEREFORE, BE IT RESOLVED that the Tohono O'Odham Nation							
19	does certify and verify that the following communities and							
20	does certify and verify that the following communities and							
21	districts do have the funds available to commit toward the							
22	project if it is funded:							
2 3	San Simon/Pisinemo \$500.							
24	Chui Chu/Sif Oidak \$500.							
2 5	Santa Cruz/Nestors \$500. Big Fields/Sells \$500.							
26	Big Fields/Sells \$500.							
27	BE IT FURTHER RESOLVED that the above-referenced communities/districts							
28	will turn their matching funds over to the Nation's Accounting							

- 1				
1	RESOLUTION NO. <u>93-395</u> (Certifying Districts and Communities Commitment of Matching Funds) Page 2 of 3			
2				
3	Office to administer, expend and report on, for the benefit of			
4	the project.			
5	the project.			
6	The foregoing Desclution was nessed by the Tahana OlOdham Lagislative			
7	The foregoing Resolution was passed by the Tohono O'Odham Legislative Council on the <u>3RD</u> , day of <u>NOVEMBER</u> , <u>1993</u> at a meeting at which a			
8	quorum was present with a vote of 1,763.0 FOR; -0- AGAINST; -0- NOT			
9	VOTING; and <u>06</u> ABSENT, pursuant to the powers vested in the Council by Section <u>1</u> (c)(2), (d) & (f) of Article VI of the Constitution of the Tohono			
10	O'Odham Nation, adopted by the Tohono O'Odham Nation on January 18,			
11	1986; and approved by the Acting Deputy Assistant Secretary - Indian Affairs (Operations) on March 6, 1986, pursuant to Section 16 of the Act of June 18,			
12				
13				
14	TOHONO O'ODHAM LEGISLATIVE COUNCIL			
15				
16	Caley Lawor			
17	Alex J. Ramon, Legislative Chairman			
18	30 day of November, 1993			
19				
20	ATTEST:			
21	l.A			
22	Glicinda alkan Jor:			
23	Teresa M. Choyguha, Legislative Secretary			
24	3rd day of November, 1993.			
25	Said Resolution was submitted for approval to the office of the Chairman of			
26	the Tohono O'Odham Nation on the 4th day of 1993at			
27	Article VII of the Constitution and will become effective upon his approval or			
28	upon his failure to either approve or disapprove it within 48 hours of			
- 1	CIDMITTAL			

1 2	RESOLUTION NO. 93-395 (Certifying Districts and Communities Commitment of Matching Funds) Page 3 of 3
3	TOTALO OLODILAR I EGICY ATTITUDO
4	TOHONO O'ODHAM LEGISLATIVE COUNCIL
5	alex Ration
6	Alex J. Ramon, Legislative Chairman
7	
8	[X] APPROVED on the 5 day of November, 1933
9	1/
10	[] DISAPPROVED) at 5.30 o'clock, PM.
11	
12	<u>Samo</u>
13	SYLVESTER LISTO, Chairman TOHONO O'ODHAM NATION
14	
15	ath.
16	Returned to the Legislative Secretary on the Sth. day of November
17	19 93 , at 11:16 o'clock, A.M.
18	
19	Mucinda Ollan Jos:
20	Teresa M. Choyguha, Legislative Secretary
21	
2 2	
2 3	
24	
2 5	
26	
27	
28	

ACTION: CERTIFYING DISTRICTS AND COMMUNITIES' COMMITMENT OF MATCHING FUNDS

MOVED: COUNCILWOMAN ALBERTA LOPEZ SECOND: COUNCILMAN WILLARD JUAN, SR.

DATE: NOVEMBER 03, 1993

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
SIF OIDAK 151.0	WILLARD JUAN, SR. (Delbert Thomas)	75.5	x			
101.0	2. MARY ANN ANTONE ** (Nellie Miguel)	75.5	x			
SELLS 290.0	ANDREW M. PATRICIO (Lucille Encinas)	145.0	x			
	2. JOSEPH T. JOAQUIN (Allen W. Garcia, Jr.)	145.0	x			х
SCHUK TOAK 113.0	FRANCES FRANCISCO ()	56.5	x			
	2. KENNETH J. ANTONE ()	56.5	x			x
SAN XAVIER 135.0	1. EUGENE ENIS, SR.	67.5	x	:		х
133.0	2. DENNIS RAMON ()	67.5	x			
BABOQUIVARI	1. FRANCES MIGUEL ()	115.0	x			
230.0	2. EARL A. FRANCISCO (Lucilda Norris)	115.0	x			
GU ACHI	1. WILLARD ANITA ()	90.0	x			
180.0	2. ALEX J. RAMON (Marian Johnson)	90.0	x			
PISINEMO	CHESTER ANTONE (Fernando Valentine)	64.0	x			x
128.0	2. JOHNSON M. JOSE (Roseleen Antone)	64.0	x		 	
SAN LUCY	1. JOHN RENO	49.0	X			
98.0	2. ALBERT MANUEL, JR. (Ernestine Marquez)	49.0	х			x
GU VO	1. EMILIO LEWIS	62.0	x			
124.0	() 2. MICHAEL FLORES (Fern Salcido)	62.0	х			
HICKIWAN 136.0	1. MANUEL OSEQUEDA, JR.	68.0	Х			
	() 2. LLOYD FRANCISCO (Henry A. Ramon)	68.0	х			
CHUKUT KUK	ALBERTA M. LOPEZ (Berdella Jose)	89.0	х			
178.0	2. KENNETH WILLIAMS ()	89.0	x		• 	x
	TOTAL	1,763.0	1,763.0	-0-	-0-	06